Confusing Conjugations

optāre


implēre

dūcere


incipere

sentīre

optō


impleō


dūcō


incipiō


sentiō

optās


implēs


dūcis


incipis


sentīs

optat


implet


dūcit


incipit


sentit

optāmus

implēmus

dūcimus

incipimus

sentīmus

optātis


implētis

dūcitis


incipitis

sentītis

optant


implent

dūcunt

incipiunt

sentiunt
optābō


implēbō

dūcam


incipiam

sentiam
optābis


implēbis

dūcēs


incipiēs

sentiēs

optābit


implēbit

dūcet


incipiet


sentiet

optābimus

implēbimus

dūcēmus

incipiēmus

sentiēmus

optābitis

implēbitis

dūcētis


incipiētis

sentiētis

optābunt

implēbunt

dūcent


incipient

sentient
optem


impleam

dūcam


incipiam

sentiam
optēs


impleās

dūcās


incipiās

sentiās

optet


impleat


dūcat


incipiat


sentiat

optēmus

impleāmus

dūcāmus

incipiāmus

sentiāmus

optētis


impleātis

dūcātis


incipiātis

sentiātis

optent


impleant

dūcant


incipiant

sentiant
optor


impleor

dūcor


incipior

sentior

optāris/optāre
implēris/implēre
dūceris/dūcere
inciperis/incipere
sentīris/sentīre

optātur


implētur

dūcitur


incipitur

sentītur

optāmur

implēmur

dūcimur

incipimur

sentīmur

optāminī

implēminī

dūciminī

incipiminī

sentīminī

optantur

implentur

dūcuntur

incipiuntur

sentiuntur
optābor

implēbor

dūcar


incipiar

sentiar
optāberis/optābere
implēberis/implēbere
dūcēris/dūcēre
incipiēris/incipiēre
sentiēris/sentiēre

optābitur

implēbitur

dūcētur


incipiētur

sentiētur

optābimur

implēbimur

dūcēmur

incipiēmur

sentiēmur

optābiminī

implēbiminī

dūcēminī

incipieminī

sentiēminī

optābuntur

implēbuntur

dūcentur

incipientur

sentientur
opter


implear

dūcar


incipiar

sentiar
optēris/optēre

impleāris/impleāre
dūcāris/dūcāre

incipiāris/incipiāre
sentiāris/sentiāre

optētur


impleātur

dūcātur


incipiātur

sentiātur

optēmur

impleāmur

dūcāmur

incipiāmur

sentiāmur

optēminī

impleāminī

dūcāminī

incipiāminī

sentiāminī

optentur

impleantur

dūcantur

incipiantur

sentiantur

NB: The 3rd pl. active forms of the 3rd and 4th conjugations are easily confused.  Additionally, the future and the subjunctive 1st sg. active and passive have the same forms.

In the 2nd sg. passive the short ‘i’ becomes ‘e’ before the -ris/re ending in 4 instances.  Also, do not confuse the alternate 2nd sg. passive forms with either the active infinitive or with the passive imperative.  Context will help you decide which is the actual form.

